Top View
A..
e
2x M6x1 6H | |
/ )
~
N >
!
Front 3 Section View
A-A (1:1)
2x M6x1 6H

\

Thread should go all the way through

) 07@ ]

NOTES:
1. ALL UNITS IN MM
2. FOR THE TWO THREADED HOLES, THREADS
SHOULD GO ALL THE WAY THROUGH.

2

Front View A
~ 71 N 2x M6x1 6H
37.4
% A
10 | <
7 B
A
(p]
C
Side View —
2x M6x1 6H
16.1_
A
Thread should go all the way through
N | B
! 1
o
E
Technical reference Created by Approved by |
MTB Abe Katz 3/28/2023
Document type Document status
FINAL
Title DWG No.
TOP PLATE 2 of 2 F
Rev. Date of issue Sheet
| 1/1




